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(a) Airight Ltd is based in Bowton in the County of Moorshire. Airight Ltd manufactures and fits
air conditioning systems for private and public sector organisations. Fig. 1 shows some of its
customers.

(i)

(i)

(iii)

© OCR 2008

Fig. 1 — Examples of Airight Ltd customers

The Corner Shop Ltd

Bowton NHS Hospital

Bowton Athletic Football Club plc
Bowton Building Society

Royal Oak Hotel Ltd

Mencaster Borough Council
Mencaster Sixth Form College

Identify one private sector and one public sector organisation from Fig. 1.
Private SECLOr OrganiSAtiON .......cccoiiiiiieeieei e eeeeenneeeeennnennneenee
PUbIiCc SECIOr OrganiSAtION .........c.uuiiiiiiiie et e e [2]

State two features of private sector organisations.

PP
TSRO PU PP RPPROTI
...................................................................................................................................... [2]
State two features of public sector organisations.

SO P PP
OO TP PP UPRTPUPRPPI
...................................................................................................................................... [2]
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(b) Fig.2 shows the percentages of sales of Airight Ltd made to private and public sector
organisations in 2007.

Fig. 2 — Sales of Airight Ltd

2007 —Total Sales = £2m
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(i) Using Fig. 2, state whether Airight Ltd made a bigger percentage of sales to the public
sector or the private sector in 2007.

(i) Using Fig. 2, calculate the value of the goods sold by Airight Ltd to the public sector in
2007. Show your working.
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*(c) Fig. 3 shows a list of possible methods of promotion that Airight Ltd might use.

Fig. 3— Some possible methods of promotion

Having a stand at a building trade show.
Advertising in local retail trade magazines.
Advertising in the national press.
Advertising on television.

Having a web-site.

Airight Ltd fits air conditioning systems in local shops in the county of Moorshire. It wants to
increase this part of its business. Recommend two methods of promotion from Fig. 3 that
Airight Ltd should use. Give reasons for your recommendations.

© OCR 2008
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(d) Fig. 4 shows the pattern of sales that Airight Ltd achieved during 2007.

Fig. 4 — Airight Ltd — Sales of Air Conditioning Units — 2007
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(i) Inwhich month are sales at their highest?

(i) Explain why the pattern of sales for air conditioning units is as shown in Fig. 4.

(iii) Explain whether or not the pattern of sales of air conditioning systems may cause cash
flow problems for Airight Ltd.

[Total: 23 marks]
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2 (a) Airight Ltd makes the pipes it uses in its air conditioning systems. It makes two types of
pipes.
»  Circular pipes are used in large quantities and so are made continuously.
e Square pipes are not used very much. Different sizes are made to order for each
customer.

Recommend the method of production, job, batch or flow, that Airight Ltd should use for each
type of pipe. Give reasons for your recommendations.

Circular pipes — recommended method of production ............ccccevviiiiiii e,

=110 1 1

Square pipes — recommended method of Production .............c.eevvvvvviiiiiiiiiiiieieeeeeeeee,

[ Sz 1510 ] 1 =
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(b) Airight Ltd is considering introducing new technology so that the pipes can be made using
computer-controlled machines. State and explain two advantages and two disadvantages to
Airight Ltd that may result from introducing new technology.

F 0 V7= g | = Vo 1

*(c) Airight Ltd buys the motors for its air conditioning systems from a firm in China. Explain one
possible advantage and one possible disadvantage to Airight Ltd of doing this.

0 AV o] - T [N

[Total: 20 marks]
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(a) Airight was started as a partnership in 1996 by Nazeem Khan and Andrea Goldman. They
wrote a business plan to give to their bank manager when they applied for a bank loan. As
part of the business plan they stated their previous jobs, which were:

(i)

(i)

© OCR 2008

Nazeem — worked for five years as an engineer.
Andrea —was a marketing manager for a firm, based in Bowton, which sold air conditioning
systems.

Explain why the information about their previous jobs would help Nazeem and Andrea to
get a bank loan.

The bank manager wanted other information on the business plan to help him to decide if
Nazeem and Andrea’s business would be successful. For each statement below, explain
why this information would help the bank manager.

The number of firms that manufacture and fit air conditioning units in the county of
Moorshire.

EXPIANATION ...oeeeiiiiiiiee et e e e e e e e e e e e e e a e

The prices that are charged by competitors for air conditioning units in the county of
Moorshire.

EXPIANATION ...oeeeiiieiiiee et e e e e e e e e e e e aae
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The number of firms, other than air conditioning firms, that exist in the county of

Moorshire.
D4 ] = T = (0] o S
...................................................................................................................................... [6]
(b) Fig. 5 shows some of the different sources of finance, other than bank loans, that businesses
can use.

Fig. 5 — Sources of business finance

Trade credit
Sale of assets
Mortgage

When Nazeem and Andrea started the business they needed to buy a factory and materials.
From Fig. 5, recommend one source of finance that would be appropriate for each of these
needs.

Buying a factory

RecommeNnded SOUICE Of FINANCE ... couieeiie ittt ettt e et e et e et e e e eereererrannas

REASONS fOF COICE ..ieieie e et ettt et e et et e et e et e e e e renns

Buying materials
Recommended SOUICE Of fINANCE .....c.uiieeieeee et e et r et e e e e e e e e eaenaeees

R ST= Yo ] g ETR (o] o] o (o ][o ST OTTRT
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(c) When Nazeem and Andrea decided to change the partnership into a private limited company;,
Airight Ltd, in 2001 they gained the advantage of limited liability. Use the words below to
complete the explanation of limited liability that follows.

Liquidation Debts Assets Private possessions
If the business goes iNt0 ..........ccoovviviieviiineinnnennn. and it has .........coei i,
itmust sell offits ..., to raise money. The owners do not have to
selltheir .....ooooviiii to raise money. [4]

(d) Nazeem and Andrea decided to change the business to a limited company owned by
shareholders so that they could raise more money.

(i) Explain why having shareholders would help a limited company to raise more money.

(i) Explain why Nazeem and Andrea may have needed to raise more money for their
business.

[Total: 24 marks]
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(@) Mark Seddon was employed by Airight Ltd as an engineer. He fitted and maintained the air
conditioning systems that Airight Ltd sold. Fig. 6 shows Mark’s wage slip for the week ending
12 May 2006.

Fig. 6 —Wage Slip for Mark Seddon —Week ending 12 May 2006

Employee Mark Seddon Employee Number 26

Week No: 6 Week Ending: 12 May 2006

Pay £ | Deductions £
Basic Pay Income Tax 84
Overtime Pay 72 | National Insurance 36
Gross Pay 492 | Pension Contribution 20
Net Pay 352 | Total Deductions 140

(i) Calculate the basic pay that Mark earned in the week ending 12 May 2006. Show your

(i)

(iii)

© OCR 2008

working.

Mark worked four hours overtime in the week ending 12 May. Calculate the amount he
was paid for each hour of overtime. Show your working.

Mark is usually paid £12 for each hour that he works. Explain why Airight Ltd pays a
higher amount for each hour of overtime that he works.

[Turn over
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(iv) Some air conditioning firms pay engineers such as Mark Seddon a piece rate for each

unit that they fit. Airight Ltd does not pay piece rates. From the list of statements below,
tick against the three disadvantages to Airight Ltd of paying piece rates to air conditioning
engineers.

Statement Tick the three statements that
are disadvantages of paying
piece rates to air conditioning
engineers.

The engineers will concentrate better
on their work to get more done.

The engineers may rush their work
leading to poorer quality.

Airight Ltd will fit more air conditioning
units in the same amount of time.

Airight Ltd could get a reputation for
poor workmanship.

Airight Ltd would need to employ
people to check the quality of the
work done by its engineers to reduce

mistakes.
Engineers would need more training. [3]
(b) Mark Seddon was made redundant when Airight Ltd reduced its number of engineers.
(i) Explain what is meant by redundancy.
...................................................................................................................................... [2]

(i) Mark decided to go into business as a sole trader fitting air conditioning systems. State

© OCR 2008

and explain two benefits to Mark of becoming a sole trader.

TS L= 1 TN

2T 1Y 11 A2

D4 0] = L= Lo o
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(iii) State and explain two problems that Mark may face as a result of becoming a sole
trader.

(o1 00] 0] [T 0 2 1 TR

(g (0] o] 11 1 0 N2

D4 0] = L= 110 o

(c) Mark has been reading about the importance of training workers. The statements in Fig. 7
give different types of training for workers and the reasons why these may be needed.

(i) Match the reason for training with the type of training by writing the appropriate letter in
the middle column. The first one has been done for you.

Fig. 7 —Types of training and reasons for them.

Types of training for Letter giving

Induction training

workers appropriate Reason for training
reason
1 (a)
. (e) This is needed to learn how to deal with
Re-training engineering equipment.
2 (b)

This may be needed so that the worker can
deal with customers.

3

To develop
engineering skills

(€)

The worker may need to learn how to
organise employees or to control budgets.

4

Management skills

(d)

This is needed to introduce new workers to
the business.

5

Communication skills

(e)

This is needed for a worker whose job
no longer exists because, for example, a
machine does it instead.

© OCR 2008
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(i) Mark is thinking about taking a week off work to go on a training course costing £1000. Is
this a good idea? Give reasons for your answer.

[Total: 26 marks]
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5 (a) Fig.8 shows the Trading and Profit and Loss Account for Airight Ltd for the year ending
31 March 2007.

Fig. 8
Airight Ltd — Trading and Profit and Loss %ccount for the year ending 31 March 2007

2007 (£)
Sales 2,000,000
Cost of goods sold 1,500,000
Gross Profit ]
Expenses 200,000
Net Profit 300,000
Tax 75,000
Profit after tax 225,000
Dividend paid 125,000
Retained profit 100,000

(i) Name the tax that Airight Ltd pays on its profits.

...................................................................................................................................... [1]
(i) Explain the term dividend.

...................................................................................................................................... [2]
(iii) Give two examples of expenses that Airight Ltd may pay.

EXPENSE L .o

E XD NS 2 .o ————————————————————— [2]
(iv) Calculate the gross profit that Airight Ltd made in 2007. Show your working.

...................................................................................................................................... [2]

© OCR 2008 [Turn over



16

(v) The shareholders of Airight Ltd want it to raise its profits in 2008. Explain whether or not
each of the following would be a good way for Airight Ltd to increase its profits.

Buy air conditioning motors from a cheaper supplier.

© OCR 2008
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(b) Fig. 9 is an extract from a newspaper article that appeared in the Bowton Evening Chronicle.

Fig. 9 — Extract from the Bowton Evening Chronicle

GOOD NEWSFOR BOWTON

Korean electronics giant NXP announced a
take over offer of £2.5m for Airight Ltd, the
Bowton based air conditioning firm.

A spokesman for NXP said the firm would
expand the factory at a cost of £5m and that
thiswould bring real benefits for the people of
Bowton.

Explain why a takeover by NXP may bring benefits to the people of Bowton.

© OCR 2008 [Turn over
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The following are stakeholders in Airight Ltd who live or work in the town of Bowton.
John Brown — owner of Fastfit Airconditioning.

Asa Duren — Treasurer, Bowton Borough Council.

Amelie Day — Leader of the local environmentalist group.

Chelsea Williams — a resident on the housing estate near the Airight Ltd factory.
Darren Griffiths — owner of a local building firm.

Ryan Tyne — a manager of Airight Ltd.

Choose three stakeholders from the list above who would be likely to be against expansion
of the factory by NXP. Explain why each would be against the expansion.

5] = 1] (0] (o =] TP

[ == 110 ] 1 N

[Total: 27 marks]
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If you use the following lined pages to complete the answer to any question, the question number must
be clearly shown.
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